.     Starter    .
         Find the gradient of the line joining
[image: image1.wmf]3
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1)  AB

gradient =
2)  BC

gradient =
3)  BD

gradient =
4)  DB

gradient =
5)  AE

gradient =

6)  BE

gradient =

7)  CF

gradient =
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8)  Give some coordinates which is on a line passing through point B and with the gradient of 
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.     Overview    .
Skills 
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Sketching a graph using gradient - intercept method
When given an equation
  - Find the y intercept
   - Find the gradient
Concepts

Equations must be in the form y= mx + c
The gradient is the number by the ‘x’
The y intercept is the number by itself
Horizontal line y = 2
Vertical line     x = 3
Vocab:  Gradient,  y intercept
Steps
Sketch y = 2x + 1
1) Find and mark the y intercept  (c)
2) From this point go across right 1 unit 
     then up/down the gradient 
3) Join these two points
4) Make a line (with arrows as it continues)

.     Examples    .
Find the x intercept, the y intercept and sketch these graphs:

1)    y = 2x + 3 

y intercept =

Gradient = 

2)    y = x – 4 
y intercept =

Gradient = 


3)    y = 4x – 2

y intercept =


Gradient = 

4)    y = -3x + 5

y intercept =


Gradient = 
.     Practice A    .
Sketch these graphs
5)  y = 2x + 5

6)  y = 2x – 2

7)  y = 2x + 2


8)  y = 4x + 2
9)  y = -2x + 2
10)  y = 2x + 2
11)  y = 3x – 1
12)  y = -2x + 5
13)  y = x + 2

14)   y = 2x – 3

15)   y = ½ x + 3
16)   y = -2x

17)   y =  x – 5
18)   y = -8x + 7

19)   y =  – 2

20)   x = 5

21)   y = x
.     Practice C    .
Write the equations for these graphs
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